
www.racecardynamics.com  RCD Suspension    619-588-4723          info@racecardynamics.com 

Page 1 - #16-05384 

            
1984-2001 JEEP CHEROKEE 

REAR CORNER GUARDS 
P/N: 10-05384 

INSTALLATION INSTRUCTIONS 
 

PART LIST 
 

5/29/13 

    

    

20-05184-4 Rear Corner Guard, Passenger 1  

20-05184-5 Rear Corner Guard, Driver 1  

    

20-72046 Hardware Pack, Corner Guards   

   13-24069-SS 1/4”-20 x 3/4” Button Head Bolt, Stainless Steel 14  

   13-11151-Z 1/4”-20 Rivet Nut 10  

   13-30993-SS 1/4” Flat Washer, Stainless Steel 14  

   13-10161-Z 1/4”-20 Nyloc Nut 4  

    

 

http://www.racecardynamics.com/


www.racecardynamics.com  RCD Suspension    619-588-4723          info@racecardynamics.com 

Page 2 - #16-05384 

Rear Corner Guard Installation Instructions  
 

 

1. Working on one side at a time. Position Corner Guard on vehicle and mark all holes to be 
drilled. 

2. Remove Corner Guard and drill 25/64” holes in body and 9/32” holes in bumper. 

3. Once all holes are drilled, install Rivet Nuts (13-11151-Z) in 25/64” holes in body. A Rivet 
Nut Setting Tool is necessary to accomplish this. 

4. Position Corner Guard in place and install all hardware. It is recommended to use Anti-
Seize on the threads of the bolts. 

5. Repeat process on opposite side. 

1/4” x 3/4” Button Head 
Stainless Steel 

13-24069-SS 

1/4” Nyloc Nut 
13-10161-Z 

Rear Corner Guard, Driver 
20-05184-5 

1/4” Flat Washer 

Stainless Steel 

13-30993-SS 

1/4” Rivet Nut 
13-11151-Z 

http://www.racecardynamics.com/

